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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any ten questions: 2x10=20
- weifl @es e mie ¢

a)  What is the basis of international trade?

Tgeifes Afdrera fefe e

b) What do you mean by marginal rate of
transformation(MRT)?

218 sifsaewid 29 (MRT) 3eice i @i 2

c)  Whatis absolute cost advantage in international
trade?

weefes lferers baw AR Al FI0e [F @R e
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d)

g)

h)

1)
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What is factor intensity reversal?

THAMIN 2T (o) FICF 0 2
State the Rybcznski Theorem.
Rybcznski Theorem wglb Re 4|

How the imposition of tariff on imported goods
by a country affects the return on relatively

abundant factors of that country?

SIMINIFe TR o SIS 2 SEioei
MR SPFRIFS EeeTe) SHMHba g ol
geifde 212

What is prohibitive tariff?
e v 5o
Define balance of trade.

Aifiey WA AR 1S |

What does mint par of exchange mean?
Mint par of Exchange J&1ce & (Jaiz 2

Mention two reasons for disequilibrium in the

balance of payments.

ERWE AR SRl W6E fbreE 4 F=e
Ta 9 |



k)

What do you mean by foreign repercussions
effect?

e afefararaiae ger e [ @R

1)  What is a foreign exchange market?
Tt fafersr s e

m) State the Marshall-Lerner condition.
Sffet-eTie(ia =St Kge 54|

n) What do you mean by expenditure reducing
policy?
RIRRINGA(CE ISR G SRR SICIEE

o) What is “J-curve effect?
J-Gl greld T e

2.  Answer any four questions: 5%x4=20

@I orafo 2 Ted wie ¢

a)

b)

505/Eco.

Briefly explain the Leontief Paradox.
feremibare 44l Aol i <4 |

"Some trade is better than no trade” —Establish

the statement.
“fqe1 <ifdey weers 79 Afdey (v —3ehH
2fSglol 34|

Briefly discuss the Factor Price Equalization

Theorem.
Toiwie wicd el (Factor Price Equalization)
T ©gis ATH(! TG 4 |
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d)

3. Answer any two questions:

Discuss the various effects of quota.

o7 ey eeRufe S 4|

What is optimum tariff? Discuss the factors
that determine the rate of optimum tariff.
243=5

I ww fF e Iy w7 N Raaafe st
PJ|

Make a distinction between accommodating and

autonomous transaction in balance of payments.

(T AN TGS AR AFIIRI (FTACAL T
AL F9|

10x2=20

@I 7S 2ra Ted M6 2

a)
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Are the two definition of factor abundance
namely physical definition and price definition
in Heckscher-Ohlin model equivalent? Give
your own argument. Show that how presence of
demand biasness violates the statement of
Heckscher-Ohlin theorem. 4+6=10

(ZFBR-STE O0G ToAWI 2ipd TifFs IgsTe @
wisisre Aesl ¥t [ 7rget ¢ Terdd AeE e nie |
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b)

d)
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Shows the effect of rise in autonomous export
and import in determination of national income
and Balance of trade in an open economy with
no foreign repercussions by using foreign trade

multiplier analysis.

amis afefea srsifzfore Fage a9 ¢ Sismiat
I (et 9T & wLAIfsre Trel =i W=k lfey
A & AR 20T O (I ifeler S(se MRy
418 |

Examine the effectiveness of devaluation to
correct disequilibrium in the balance of
payments of a country with the help of absorption
approach.

@R AT SIFPAENS] FAILC SR
Fed RSS! [eas 9193 (absorption
approach) AR 2RACEAG 54 |

Discuss the demand—supply theory of

determination of the foreign rate of exchange.

e s g7 Sdiwe sifem-@sies oel®
IO 9 |




